CHING co N

ALIGARH COACHING CENTRE ¢

(I

RUIGARH COACHING
CENTRE
\\_/’
MBA (HOSPITAL ADMINISTRATION)

Faculty Management Studies and Research R

Department Business Administration —]

Center '

Paper Code Date of Test Paper Series
20FMSR/MHA polae B
| PARTICULARS TG BE FILLED IN BY THE CANDIDATE
Name of the Candidate o
Roll Number 5 Center Code
¢ P A

Signature of the l
: Candidate G
| For Invigilators:
T.he can.dldatc has completed all the entries in the relevant columns of the OMR and Answer Booklet and
g his/her identity has been veriﬁ;:d.
1 i i GAA\‘yJ

D ey S
[ Name of the invigilator Signature With date
Time (Test duration): 02 hours Maximum marks: 100

INSTRUCTIONS

Test duration as cpecified above shall be reckored from the moment of distribution of the question booklet.

e D

1. Tzst booklet consists of 17 pages (exciuding this page) and conuains 100 MCQs of one mark each.
Count the number of pages and questions and their serial numbers before attempting. Discrepancy, if

i any, must immediately be brought tc the notice of the invigilator.

| 2. The candidate shall handover the admit card, Original OMR Answer Sheet to the invigilator before

; leaving his/her seat and can take this question tooklet.

e Complete all entries on the cover page and put your signatire in the space provided.

: ¢ Use ONLYBall Pen (black/ blue) for making entries in the Question booklet and the OMR Answer

: Sheet.

¢ Candidate should also read carefully the instructions printed on the Admittance CaiA (Hall Ticket)
and the OMR Sheet before attempting to answer the questions.

* Blank pages provided at the end, as well as spaces in the question booklet, may be used for rough
work.

e Each MCQ is followed by 04 alternative answers. Select only one answer, which you consider as the
most appropriate. Shade the relevant circle against the corresponding question number in the OMR
answer sheet.

* Incorrect answers shall result in negative score of 25% of the marks allotted to the question.

* Answer should only be marked on the OMR Answer Sheet. No answer should be written on the

question booklet.
» All questions are compulsory.




UMIVERSITY

ALIGARH COACHING CENTRE

An Institute of Scignce & Commerce
1. logso tand0°. logio 41° ... logyo tan 50° = - -
(c)-1 L - (d) None of th_e%bqve

2. What point on x-axis is equidistant from the point Q—’ %2 and (;i ,4)? 1 £

®103) ) (04) o
4 0 2
(c) 3,0) ) (-4,0) ~ P 4
3. The ratio of total surface area to lateral surface area of a cylinder whose radius is 80 cm
ond height 20 cm, is | «93“{‘) " )
€ L8’° o)
@2:1 b)3: 1 o7 2 ;
L " Bt o
©4:1 Q¢ N STEREY g 1%
\ O 5
v 2P0 ¢
4. Satish marks his goods 25% above cost price but allows 12.5% discount for';ash payment. 'Y;
If he sells the article for Rs.875, find his cost price. 6 . 41 &0., s \{
; /0 .
(a) Rs.775 //_:/\'Vg (b) Rs.800 %x& Y, T ol:, -7}

¢ 6%
{c) Rs.875 \{o /\”g - (d) Rs.850 bg g ( i o 0'( \a \
d ; \y =8
4 it
5. Find a single equivalent increasé, if a aumber js successively increased by 5%, 10% and
15% % ‘ 5D 9’{ \

e 328% q;,,.C ‘ﬁ,ﬁ (b) 31.8% %{
(c) 382% A 20 6%  (4)23.8%

/‘
fail)
v

6. How many different signals can be made by using 4 flags at a time from 7 flags of different \{,‘.
colours? = cx

g
220 (10 o

7. The area of a triangle whose vertices are (0, 0),
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e CP of 24 apples is the same as the SP of 18 apples. Find the percentage gain

- 2
®ui% -
L

(d)13%% Ui

’f 9. The tax on an article is increased by 20%. As a result of which the consumption decreases
%v by 25%. What is the

article?

/\0-"

% change in the tax rszgnue received by the gevernment from this

/7§ X 4“

\/(um:% decrease ¢,0 (b) 15% increase
Qé?

(©) 10%increase ¢~ X <=7

)
(d) None of these

sum invested under compound interest doubles itself in 10 years. In how many years

will it become 8 times of the initial amonnt?

& .0.1
(a) 15 years w7 Q% %
Lo q’i‘;"w (d) 30 years

+(‘+< (c) 25 years \
(s
o 57 /\ * . x .
Q\+/ 1+ €0
éer"—/\é‘b 11.Quarantine was first applied for: ;\'0'-’/ ™A
ar qvf- 7 (a) HIV/AIDS o
% S5
72 % (c) Leprosy
S
sl y o
q-r’ 12. Black death is:
< mlague
() Tuberculosis

13. PQLI stands for: _
NS Physical quality of life index
(c) Physiological quality of life index

©

(b) 20 years
AV

=\ {
L (b) Tuberzulosis

«(d) Plague

(b) Dengue
(d) Cholera

(b) Physical quantity of life index
(d) Psychological quality of life index
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14. Naticnal tuberculosis institute is situated at:
(2) Bombay (b) Calcutta
¥ Bangalore (d) Delhi

15. Dengue fever is transmitted by:
(a) Cluexfatigans
(2T Aedes aegypti

(b) Cluexvishnuii
(d) Glossina palpalis

16. On the Mode of Communication of Cholera’ in 1849 was written by:
(a) William Farr b7 John Snow
(c) Edwin Chadwick (d) Pettenkofer.

17. The most common mode of HIV transmission in India is:
(a) Blood transfusion
{2) Sexual transmission

(b) Mother 1o child transmission
(d) Use of unsterile syringes and needles

18, All of the following are blood-borne infectior's except:

~{aff Hepatitis B (b) Hepatitis C
(¢) Hepatits G (d) Hepatit's E
Wh'ch 1s not a zoonotic disease?
Jaf Tetanus (b) Rabies
(c) Brucellosis (d) Hydatid disease
20. Census is conducted in every

(@25




28. Best way to dispose e-wasle 1s:

21. In India maximum maternal mortality is dus to: (2) Buming (b) Incineration
a
(a) Haemorrhage w5 Anaemia 4 1n a landfill (d) Recycling
(c) Abortion (d) Sepsis
mw country recorded the highest mortality in Spanish Flu Epidemic of 19187
22 Under 1971, Medical Termination of Pregnancy (MTP) act. Medical Termination of (a) France S Spain
Pregnancy is allowed up to: (d) China
(c) India
Wz weeks (b) 16 weeks
(c) 20 weeks (d) 24 weeks 30 Which country has recorded the highest montality in Covid-19 deaths?
) b) France
For dietary measures, Indian reference man is considered to have a weight of: SO PRA % )
" (c) ualy (d) China
s (a)S3ke (b) 60 kg
(c) 65 ke (d) 70 kg
Instruction: The given below capitalised word is followed by four options. One of them i5
= closest in meaning to the capitalised word. Choose the correct optien.
24 Richest source of cholesterol is: 31 EFFULGENT
o 1.“-" = .
(a) Egg (b) Hydrogenated oil E:; OM:::S f:; iasyl gm‘l:gm' i
3 ) Butter (d) Cheese

Instruction: The given below capitalised word is followed by four options. One of them is

25. Milk is a good source of all vitamins except: the same mezning as that of the capitalised word. Choose the correct option

(a) Vitamin A (b) Vitamin B 32. DERIGUEUR -
(e Vitamin C (d) Vitamin D (a) Necessary (b) Fashionable
(c) Compulsory ! " (d) Required
26. Most undesirable metal in drinking water is: ;
(@) Iron (b) Copper _ i
© Zine i Lead 23 The antonym of OBSCURE is .
(a) Decent by Affluent
(c)  Famous (d) Respectable
27. Waste water from kitchen is called:
(a) Refuse (b) Garbage 34. The antonym of PLAUSIBLE 1s
{2 Sullage -(d) Sewage (a) Incoherent (b) Unconvincing
5 . (2) Undesirable (d) Impertinent
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UNIVERSITY 35 The synonym of TRANSPARENT is
—— (a) Verbose (b) Involved
(c) Lucid (d) Witty
36. The synonym of ABORTIVE is
(a) Overt (b) Violent
(c) Secret : (d) Unsuccessful
37. The synoaym of EQUANIMITY is
() presence of mind (b) Self-confidence
(c) Sense of humour < Calmness of mind

38. Give one word for: “A statute imposed upon a defeated party by the victor”

(a) Diktat (b) Adage
(c) Idolization (d) Apotheosis

Give one word for: “The general public”

(a) Populace ; (b) Population
&) People (d) Populous
40. The man has been standing there ----~ - 8ix o’clock.
(a) Since (b) for
(c) From (d) it

o

7

41 Fill in the blank with appropriate preposition: He is proficient -——-mathematics
(a) With (b) By
() In (d) On

42. Choose the correct altemnative: Keep one’s word
(a) be armed with sword (b) t0 insist upon one’s view point
(c) keep one's promise (d) To conceal something

43. Choose the correct altemative: Wild goose chase
(a) have an adventure (b) happy hunting
(c) hopeless search (d) bird watching

Instruction for Q. 94 and 95: Choose the correct substitute of the underlined part of-he oy
sentence

44. They felt humiliated because they realised that they had cheated:
(a) had been cheating T had been cheated <5
(¢) have been cheated (d) No correctior, required “ &

45. L advise you to call at the doctor for consultation:
(a) Call in (b) Call to
(¢) Call upon (d) No improvement

Directions for Q.46 to 50,

1. Read the given passage to find out the subject matter

2. Read the questions that follow the written passage

3. Mark the response that appears to be the most appropnete

Man is a rational animal, so at least I have been told. Throughout my long life, I have looked
diligently for evidence in favour of this statement, but so far I have not had the good fortune
lo come across it On the contrary, I have seen the world plunging continually further into
madness. | have seen great nations, formerly leaders of civilization, led astray by teachers of
bombastic nonsense. All this is depressing, but gloom 1o a useless emotion. Erasmus was
probably right when he asserted that folly is perennial and yet the human race has survived.

Aristotle was the first to acclaim explicitly that man is a rational animal, His unimpressive

= B ot de serisrimm thnt mnm s mannln ron da evime
SO ety ee s i on agh: s
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46. The auther has seen great nations led stray by:
(a) religious leaders

(c) men of relentless ambition

47. Al this is very:
(a) Enlightening
(c) Encouraging

48. But gloomis a:
() helpfui emotion
(c) praiseworthy emotion

49. The author finds as Erasmus found:
(a) that life is a misadventure

(c) that folly is rare

(b) misguided ideology
(d) preachers of bombastic nonsense

(b) Exhularating
(d) Depressing

(b) useless emotion

(d) encouraging emotion

(h) that folly < :-n-rmmral
(d) that life is endearing

50, That man is a rational animal was first observed by:

(a) Socrates
(c) Euripides

(b) Homer
(d) Anstotle

51. One momning after sunrise, Ritu and Kavita were talking to each other face to face If
Kavita’s shadow was exactly to the right of Ritu, which direction Kavita was facing?

(a) East (b) North
\ < South 47 West

53 If“FRIEND' is coded as ‘HUMJTK’, how ‘CANDLE" is written in that code?
(syEDRIRL (b) DCQHQK
(c) ESIFME (4) FYOBOC

ointing fo a gentleman, Mohit said, “His only brother is the fathes@)my daughter’s A
Ziher”. How is the gentleman related to Mohit? 3

g Father (b) Uncle
(c) Grandfather (d) None of these " M
j4. Waat are the next two terms in the series? 4
6,120,814 10,8,12, .,
(a) 14, 10 (b)2, 18
(c)4,12 2412, 14

” One day Hilda i:ft home and cycled 10KM southwards, tumned right and cycled Sm
turned right and cycled 10KM and turned left and cycled 10KM. How many kilometers:
will have to cycle to reach his home straight?

e ®

(b) 10KM
(o
e (d) 20KM
e
56. How many words with or without meaning can be formed by using all the letters of
word ‘LINES’, using each letter exactly once? .
|
Gy 6> 3t
(a) 10 ot (b) 25
(c) 60 2 120

\@’ In an election a candidate who gets 84% of the votes is elected by a majority of 476 v ‘
What is the total number of votes polled?

T
Ja) 672 \/‘ﬂ 7.\; _(b) 700
(© 749 %} (@) 848
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58. A courtyard 25 m long and 16 m broad is 1o be paved with bricks of dimensions 20 cm by
10 cm. The total number of bricks required is: 26

o

{2) 18000
(c) 25000

% ()20000 49

\/DF - %
{8 (430000 @~ ¢
s - o

59 In a codec! message, SLOW MOVE, GET BACKWARDS, FIRE AWAY is written as
VFMD ZMWE, BEN PCTLL COXU, QHOE CDCL Based 9n this coding scheme, the code

for the word ‘SALTY" is!

1 Institute of S(legcﬂ Commerce

62. 1F football is called cricket: cricket is called basketball; basketball
badminton is called volleyball: volleyball is called hockey and hockey i

which game is played without using a ball?

61, Which of the following diagram: most appropriately show the relationship gi

wn M oV é
SR 2 Y .
eGR4 P"“’ (b) UCFIN
(c) UCINF (d) UCHIN
Butter : Milk :: Oil:?
(a) Grains (b) Seeds
4 curd d60) Buffalo

iven below:

Men, Authors, Teachers

0 &
Sy

(c)

VO
Bl Vo
b‘(\}-@ o\
L/Qe NinD 7

/o(g;q,

(a) hockey (b) volley ball
{c) billiasds \idybasket ball
63. Choose the correct altemative
Traveller; Journey:: Sailor:? -
(a) Ship _ (b) Sea
L& Crew (d) Voyage
64. Find the odd one out:
() webcam (&) speaker
(c) digital camera (d) smart phone

» one word which can be formad fam the latiars of the word
“SOMNAMBULISM™.
(a) Biome (b) Blas
(c) Soul Jdy Names

®

The following table shows the number of boys and girls of different sl
participated in a scholarship test over five years.
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v 67. The ratio of boys: girls for school B over the years 2001-2004 is: q%"
xR

rl
” 2
(a) 17:34 W 37:10 y;(,
(d)34:17 4 \0

(c) 14:37

68. The percentage increa. e i~ partici ation of boys from schaol B in 2004 over those in

2001 is nearly:
T 2%

,@zs%

(©) 1% (d) 30%

69. The total number of participants in year 2003 is:

(a) 2000 (b) 1640
WF71830 (#1720
@ year 2004 the number of participating girls is in what ratio of the nuiber of
parficipating boys? Vs - ,;é"
(2) 17:56 mse1r G VKp
() 16:57 ST 57:16 'B‘}(fe \\’V°/o

Ve
s\,\, v
71. As per International Monetary Fund (IMF)-World Economic Outlook (WEO),released on

X7
October 13, 2020, India’s GUP is expected to shrink by more than Ly W
(2) -5% O -10% X XQA
(©)-15% ()-20% ’ Qk,,/
\

72. Which among the foliowing is the most valuable technology company in the world, as per
Forbe's 2020 list of 100 most valuable brands?

(a) Google

A Apple

(b) Amazon
(d) Facebook
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73. According to World Economfc Forum's Global Gender Gap Report 2020,
ranked in gender equality -
110th
(a) 108th (b)
e 112th (d) 115th

74. NPA is an acronym for
(a) Non Plan Assessment

(c) New Performance Asset (@Y Non-Performing Asset

The winner of the Grand Slam US Open Tennis championship n the Women 3
category, held recently in September 2020 is___ ?

(a) Maria Sharapova (b) Victonia Azaranka

(c) Naomi Osaka (d) Jennifer Capniati
76.  International Day of Youu is ubseived vi £

(a) May 21 (b June 21

(e) July 2. (d) August 21

/7, J¥hich among the follovsing has been the first woman to head a public sector bank in India?
(a) Chanda Kochhar (b) Arundhati Bhattacherya

J&) Shikha Sharma (d) None of the above

78. Who among the following is the richest man in the world as per Forbe's list of Weal
People in the World 20207 '

(a) Bill Gates (b) Warren Buffet

- (oXJeff Bezo (d) Larry Ellison

. ALIGARH COACHING
CENTRE ’



{Nilﬂ"// Lo o--ANNOUNCed in 2018 by the Government of India is touted as the world’s largest
health protection schemes and is said to provide heaith insurance cover to more than 10 crore
poor and vulrerable families,

(a) Ayushman Bharat Yojna
(c) Nirmal Bharat Yojna

(b) Indradhanuch Yojna
(d) None of ihe Above

80. Bancassurance is the selling of insurance products through
(a) Banks (b) Agent
(c) Online (d) Offline

(8DWhich of the following was the first tefecom operator in the world (o commercially launch
4G

(a) Vodafone (b) TeliSonera
(c) Airtel SO A&T

82.The moto of which of the following organizations is “Space technology in the service of

hyman kind
(a) NASA M) Roscosmos
(c) ISRO (d) ESA

83.Who crated fictional character ‘Dr. Zivago'
(a) Charles Dickens (b) George Onwell
(c) Boris Patemak (d) Shakespeare

Nobel Prize winners of 2020 in Economics, Paul Milogram and Robert Wilson teach

(a) Harvard University (b) University of Chicago

\(;)'Stanford University ; (d) MIT

ALIGARH COACHI
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concept of digita currency (Bitcoin) was proposed by
(c) Bill Gates

86. One of the most widely used programming langnage it artif
is

(a) PSS ¥ Python
(©) SAS (d) Eviews

87.The dance that acquired its name from the Sanskrit word ‘story” is
(a) Kathak (b) Kuchupidi
¥ Bharatanatyam i (d) Sattriva

(a) Mozambique (b) South Africa
(¢) Zanzibar (d) Ghana

89. Which of the following country has the inscription of Lord Ganesha
(a) Fiji (b) Surinam
(c) Mauritius : (d) Indonesia

90, The quote “Every man has his price” is attributed to
a) Wiaston Churchill b) Napoleon
b) Sir Robert Walpole d) Bemnard Russel



m%':rs}nmu 1S seven »\tais older than Shikha Sﬁeen vears ago Shikha's age was three quarter of
’ Deepa’s age. Find age of Deepa ™ 7
’ - as e = 9
S & ﬁ -, (b) 43 3,6 : 5(
2o O %6 I3 L
S AL =
ﬂ Ag (c) 4l yrb d‘\'\ ’6", } W5m,‘ s g
av U tEs o 1‘$ o° N ¢ g e < <
S S g EX1
o r\Sﬁ y‘o & N 3’5 % <

S :
\' 2% 92. A and B together can do a piece of work in 30 days. A having worked for 16 days, B finishes
the remaining work alone in 44 days. In how many days shall B finish the whole work alone?

(a)30days \,m’wdavs {6’3\; ¢ ,3{5
\

(©) 40 days (d) 70 days X

93. What is the total surfce area of . right circular cylinder in sqcm ifits base diametar is 14

cm and height is 12cms? (,{) ’;l!f ‘z_
V::fs r&& - ®308 3}‘%/6»
836 o' (d) 1144
v*‘?”()(( (Y Q) /%
7 A

94. A 5 cm cube is cut into as many 1 cm cubes as possible. What i the ratio of the surface
aicd Of We farger cube 1o that of the sum of the surface areas of lgr cupies?
e cuiy 28

Vv
@16 C""(’A’Z o ®)is 7y LAe 4:2”
s U e . :
At 5100 \@ * ’é;b L A

@Fmd the number of arrangements of the leners ot' the \vo}ﬁ ‘ALGEBRA’ without

tering the relative position of the vowels and the consonants. A ;.Cf\ o
(@80 QbLP (b) 48 C/"} A
QR G o LG q?ﬂ‘
a (c)64 P\ ,)/ 9/4 @72
ot rb / %

96. The diameters of two oncentric CIMC 8 cm and 10 cm. The area of the region
between them is

=0
\(}f" cm® L;h(’;v (b) 37 cm?
()67 cm® d// (d)97 cm?
o ol o
¥ \0 A
4
Y‘

v '/6(-";}"“ Y%@A\

17

o » 5

97. If the radius of 2 circle is reduced by 40%, its circumference is reduced by
(2) 60% N
(c)35% : (d) 45%

persons be seated around a circular 1zble such tiat two particular
,\.\ (bb ¢ 2
& A z a8
‘3 w oL s A3
(a) 240 o Ng\ 6™ B £ .

o 2
@160 & ,&,\j > C (d)120 e(x«P - 4 o ;

7 :

98, In how many ways can 7
persons are next (o each other?

99. Sheetal is three times as old as Ram. Threeyearshmoeshewﬂlbem-iceasoldasm

What is Sheetal’s present age? 5 o~ :;
’, G P

@16 Z L°-> ,‘\\,bels * D g
3 q"L B 52 g

(cy14 ' ,,b i (d) 12 a- - a i

L o

7 /gk L) 4

i

100. If the equations 4x+7y=10 and 10x+ky=25 are coincident lines, then the values of k is

(@)s (b)172
(c)27/2 @352

,.},,
G
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ENGINEERING | MEDICAL | FOUNDATION | COMMERCE | MANAGEMENT

ACC RESULT: AMU & JMI ENTRANCE 2020

MBA | B.Ed

REPEATING HISTORY A TRADITION AT TCHES
HOSTEL BA
avaiLaBLe  ACC AND #ItHappensOnlyAtACC START
jjm Amit Kr. Singh " )
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LN | =y 31 in Top 100 RANK

e 79 in TOP 200 RANK
14 u 3 . v @ ,w The Most TRUSTED Coaching Institute
F of Uttar Pradesh, INDIA G2

XA LIVE /| ONLINE CLASSES AVAILABLE g1




